
Konowuka terper-

n
. (smjakavewer) Hever je gain Kongambar gigipon Aerobux

ipyna is counousand :

A E BEC - O

26668
0 - D- E - F

4 N

maxol go c superative incut Arsobe . Maga iii
marat Aus :

Ikert-ker kargets Lober17 coker# cokerg .

(OSHRa : 3a hixeY Je coberh== Y/ima)

pereste Hostane interprogige :

① kerg : im f
wart o li

② g je Ha" I③ ker + : im 4

④ 4 je ,
1-1"

③ of = 3- I Konyraultocut⑧ Rog =+o

Hope gedritumeno iecuabata I, g , 2,
Y m Y .

I : her -- her
↑

I(a) :
= f(a)

2 m je I goopo geputucato , in go m f(a)-ker ?
⑤

B (f(a))
= 4(2(a)) = 410) = 0 = f(a)e ker ~

Orregto je I evroupars.a



I : pers-kerse-ameto Raw I

g(b) = = g(b)= kers , I jeae surpquesan .

I :

cokert-cober
11

Dima Elim

I([d)) : = [Y(d)) -> cober

goopa getucatan :

[d] = [dr) <) d-d2+imd) (JaGA) di-dz = G(a)

-(2dis) - Y((d-)) = [Y(d - dr)] = [Y(2(a))) 8 (peas)) = 0

=> Y([di)) = Y([dr))
, i. I je geopo geop .

im

I je cconoropeusar :

↑([d] + (dr)) = ((d +dr)) = (Y(d , +dr)] = (Y(d) +Y(d)] =

- (Y(d1)] + (y(d2)] = 4)(dis) + Y((a))

↑ : Joker cober Je -auto Kao I
I

Elim Fimge
↑(Ce3) :

= (4(e)] jeae goopo grputtural economopefers an .

8 :

Perje-> coker 4
11

'I D/imd

Here jeceberge .
Kako je g He" (2)

,
i nocingi

Ot B ing - g(b) = -
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↑(B(a)) & je(g(0)) = 0 67 C1 0

=> B(0) - ber t & im4
t te

d1 16)
=>(5deD) Y(d)

= B(a) ↑

Lenten 8(-C) =
= [d] cokerd A E BEC - O

26668
0 - D -> E- F

gapa getutor 4 tr

Haje g(6) = -2
, Y(d)

= B181) > [di) = [de)
q(62) =

-2
,
4(dz) = (b) 3 =dr -de eimL

1

q -6+-31 0 6+-31 0

s It s It
displa da-1b)2

↑

g(61 - b) = -
-

= 0 = G1-be- kergE imf = /FatA) fla)= bi-b

y((al) & B(f(a)) = B(61-62) = Y(d - - dr)uYj ,
1 -1"()

=> di -d2 = ((a) = d -dreim2 =) [d] = [d2]

8 je conouopforsa
Hear je g(6) = -- , Y(d)

= B(61)

q(62) =

-x
,
4(dz) = (b)

1

q
1 -

2
6+-31 0 6+-31 0

s It s It
displa da- late

↑

g(b +62) =

-x + 2 I =3 f(C1
+ 22) = di +dz = f(c) + f(C2)

Y(d1 + d) = B(b1 +b)
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Cage gokosyjew movite inse

Ikert-ker kargets Lober17 coker# cokers

Ger : im I
2 : Here je 6-ker < her , hi . 9(6) = 0

,
(b) = 0

⑪
0 = g(b) = g(b) = ) 6Eberg = imf => (7a = A) f(a)

= 6

La je atkerd
?

⑦
y(2(a)) = P(f(a)) = B(z) =0m4je ,

1-1"(0)

=> ((a) = 0 =1 at berL = b = f(a) = f(a) = beimf

2
: Helper i eseiry , inj . G = F(a) 3. wo after .

9(6) : g([(a)) = g(f(a)) &0 - 6- kerg

ber 8 : im
= : Her je zbert-kerge , my · 2(c) = 0 up(C)

= 0
.

e(C = 0 ston go unaro bud Now pattings :

q6+-31 0

s It
d1

- 16

~ go je (d] =0-cokerd= Dlimd , my .

deimd

=> (Fa=A) G1a1 = d
.

OHanum :
= 6-f(a) .

⑤
B (6) = (6) - (f(a)) = p(6) - e(2(a)) =

3(6) - 4(d) = 0

=> Gtkermg(6) = g(b-f(a)) = g(6) - (a) = 2

=) -c = g(e) = eim5 .
O

2 : Head je-zeing , wij . =g(6) sa Hero Other
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q
erro :

6+-31 0 41d1 = 0
,
a Y je , 1-1"(4) ,

t te
in je d = 0 u orged1

- 16 e(-1) = [d] =0 =) -c = ber 8 ."

ber : im 2

= : Hect je [d]-kert= coberd , i . T([d])= (e(d)]=0ccober
=> 4(d)eim = (562B) p(a) = e(d)

q
UsHautoc : = g(b) , i .

whowo :
6+-31 0

in je -(2) = [d] areDmatte
=> [d] Ein e ↑

2 : He je (d]eims<cobert
, ing , unaw Suc :

q6+-31 0

sdiepb-obte
↑

y((d)) = (Y(d)) = [B(61) = 0(jp (6) eimp)
=> (d) = ker Y .

ker I : im I

= : [e]e Hert < coker , iy F([e3) = [+(el] = 0-cokers
=> teleimg=> (7-2=2) p(C) : ↑e)

gje ,Ha"(0) = (56=B) g(6) = >

OsHanwe : = e - (b)
⑥

↑(el) = +(e) - +(B(0)) = f(x2) - f(g(6)) = 0

=> &'E KerY= in t => (5 deD) YId)= e

=> 4([d)) = [41d)] = [e1) = ] = [e] => [e] eimE

Eim
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2 : Heka je (eseimE
, i · (e]

= Y (d)) = [4191]
,
dzD

·

=> (e-4(d)] = 0ecober= e - Y(d) -im = (6-B) pla)= e - (a)

Y (es) = (+7el] = [4(p16) + 4(d1)] = (4(3(8))+ all] =

⑧[f(g(61)] = 0

=> [e]-kerF
.
I

leve swigca vewor 2] Hever je gain Kongambar gignpos
Averobux ipyna is scoumousand :

I0 - A - B = c - 0

26668
0 - D- E - F- 0

4 N

maxol go c superative incut Arsobe . Maga iii
marat Aus :

I
o Pert-ker kargets Lober= coker# cokers -> Oe

2
. Heke je

AFBCO warclt its . Maga wanigi
uppogon usomopofusar cobort=C .

pewelle 1
. incopene o usopefosay innepetta An g Hou gaje :

B/kerg = im g .

He moulton Atusa whow go je kerg
: imfrimg=C ,

na

goinjano B/imf=C , my . Cokerf=C .

TempayHot 3Arun gr ba clake comiambot gripor
AEB E <-> 0 - maute

a bed be 6 epaie
*

' B - c - 0
fl g
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4 26] + g(6)Koryupo ne :

cokerf-- C n I

-b ↳ ↓ S (19(6))
I

coperf's ne [p(61] + g(((6))

p(e((z))) = v(g(z)) = gi(p(3)) = e(2183) = 41(5 (ies)
-> usompensar jicne ipupogant
Sa bettoy :

Ako je ORABEI Toast Hus
, olge rocingi ipegat

usowopfarsar A = Perf .

Konowiya aquacu powere

CA : ... - Cn+Cn* Ca-1-- & Caltrati Konivek

(n = sender
gue

du = conouopetsu i-g . duodu+ = 0

Zn : = ker du = Ca

Br : = im du+1 = Ca

n-te courkd ipyra 1 . K .
CA :

An((x) =
= Zn/Bm

upateuy :

M
. K

.

= Mracu Rowek

givet .

=

gyin auth this

Rent .

=

Kporku incultu His

Never [yek-you] Here je gain insurat His M . K
.

0 - Cx - D x - Ex- 0

-

Ilager where gint .

... - Hn(Cx)- An(Dx)- An(Ex)- H-(2x)- ...
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gaves Bjore name 2] :

I ⑰ ⑰xCA Wow kest . U . K .

- ! i i
↓ ↓ ↓ Or CA + D+ -Ex - O

2 : 0 -> 0 - ⑧ -> 0 -> O

↳ ↓ ↓
1 : 0 - A - B -> c - O

24 8 N

0 : 0 - D -> E -> F - 0

f N

- 1 0 - 0 - b -> 0 -> ⑧

↓ d ↓
" ! " !

seek-yak lawd or gije guest .

-- Hr(Ex) - Hi)(y) -H-(Dx) -He(Ex) -H(cx)Ho)Dx) -Ho(Ex)&He/Ca)e .

Il 1 " 11

" kart be bat blimd Elim / imje ⑧

" 4 Il

Loker L Coker caberte
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